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201 er23 | 34,260 26,160 8,100
01 At2teltl 2,100 0 2,100
sdHs2 29 2,100
02 S3=gl 32,160 26,160 6,000
E52= & AHAl 18,000
=Rt lull 12,000
Agh2tell 2,160
| E=HAMSUE 215,000 185,000 30,000
307 elztol & 215,000 185,000 30,000
04 QIZHHAMAIH 2 & 215,000 185,000 30,000
HI53=l 2l E=FAMEUS 215,000
STE-ZMAMEU 4= HEES 18,000 0 18,000
207 ARl 18,000 0 18,000
01 S| 18,000 0 18,000
SHYTZMAMSUE AEE HEELY 18,000
dEHE |4 2,742,681 2,376,340 366,341
Jl 371,393
= 167,419
Al 2,203,869
HEHF2S AKX 806,800 853,100 46,300
307 @I2t0| & 806,800 853,100 46,300
04 QIZHHAMAIH 2 £ 806,800 853,100 46,300
2023 SEHSMUME NI SOt 33,800
AYENSUEE 2t 3,000
2023 SSAIMSHOI(O]) LMK = 99,000
C(E=)ERI0E & S=E H3ZI| U3l
kS 50,000
MEHS S & 33| =d 20,000
Hi7al 2 &I| AHNoIESUE 5,000
2023 AHESHEW d=dl=colgial 20,000
HI33| SHHIZ2ZHEW =72U3 9,000
78l RENI2SHEN SEctEE7UHa 9,000
2023 UHHE2ZHEH d=552 =FFF
tHal 30,000
Hie2l SHNI2E0E =570 23,000
Mzl ZN2S0HEE SH3EE =R &
ol . 2Ci|3 20,000
243 S2E XA BHEQIETHS 50,000
2023 BtHI2ZHEHE &= OI0tE0l S8l 60,000
M3l CHAISZ0{EE Ot0 = SZ0HE 15,000
Hi3=l NS0 d=dEHMSE LU 30,000
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M4zl SNZ2S 0 =8 E=ASIQ10F TR 20,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
K232 SN2 0 EB E=EILIANE] 25,000
N4zl SENI2E0ED 8=HS0HE 25,000
RI3El BHHIPEICH B2 AE ()
=73 10,000
2023 BtHI2ZHEHH JS CUP V12811 Bt=mad
=702 180,000
2023 =g 2T HUHA 5,000
M2zl ZHI2EHEE SEHAIZ HEN
=503 10,000
d=.& =9 283Hl N 45,000 45,000 0
307 212+01& 45,000 45,000
04 QIZHHAIAIH E X 45,000 45,000
d= - CHAUIES 30,000
CUHAE EM 2l E=5d 15,000
MEHSXEA MR (XEA) 18,819 18,819
307 elzto| & 18,819 18,819
02 2IZHBYAIHE A 18,819 18,819
MEHWSXEX MM (XHA) 18,819
MBS A BIXIAIE (EX) 148,986 148,986 0
Jl 74,493
= 22,348
Al 52,145
307 gl2to| & 148,986 148,986 0
Jl 74,493
= 22,348
Al 52,145
02 2B YAIHE £ 148,986 148,986 0
LSS A=A HHA 148,986
) 74,493
< 22,348
Al 52,145
MR 2el(B2x HRMA) 83,540 78,963 4,577
= 25,062
Al 58,478
307 gl2to| & 83,540 78,963 4,577
=S 25,062
Al 58,478
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MEHSXEX ML 83,540
< 25,062
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MBI ZROYMRI(EX) 48,000 48,000 0
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SA: DEHSIH
33 oMI2E Ms =4
ool dEHs =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ZOHI I A== &0t 5,000
SEs0MSEU= Zot 5,000
SHZMSAH=U2 Fot 2,000
SHAZEMAM=UR FOt 5,000
d= - £ UM JHE 2 &0t 28,000
SO M FCH=I HA 108,000 93,000 15,000
307 elzto| & 108,000 93,000 15,000
04 CIZHHAMAMH 2 & 108,000 93,000 15,000
SSEANYHAHFUHR IH= 28,000
ZNEHHE E=ZAU2U2 A 30,000
DNESH = A=A OHE 15,000
VNESHEH A=Zoel=dUal i 15,000
LNESSHEE A0 =202
Dk 20,000
Fojel MEHs s4(2xX) 207,488 207,488 0
Il 103,744
= 31,123
Al 72,621
307 el2tol & 207,488 207,488 0
) 103,744
& 31,123
Al 72,621
03 2IIHHEHE2SHIEX 207,488 207,488 0
Z0HS! MEHMFAZAL HHX 207,488
Jl 103,744
[ 31,123
Al 72,621
Fojel MEHs SE(EXRHRIMA) 58,094 44,685 13,409
= 17,428
Al 40,666
307 el2tol & 58,094 44,685 13,409
= 17,428
Al 40,666
03 PIZAHHEE 22X 58,094 44,685 13,409
ZOoHe! MEMSXEZX ML 58,094
== 17,428
Al 40,666
AXX 2R OISH(XHA) 34,800 22,080 12,720
301 LEIE NS 34,800 22,080 12,720
02 AR 2EH LGS (HAAS, NLWE) 34,800 0 34,800
AXXAM0ISH gdat MASE MNFES
RN 20,0002 x130H 123 31,200




SA: DEHSIH
33 oMI2E Ms =4
Chel: METIS SA (cHol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ol AR=ZHO0ISH 43 NFE=
22T 20,0002 +15%« 128 3,600
AZX 2% 0IBA(EX) 121,886 108,571 13,315
) 85,320
= 10,970
Al 25,596
301 EtE N = 121,886 108,571 13,315
Jl 85,320
[ 10,970
Al 25,596
01 AR 2EHSHS(RNEXRTH) 121,886 108,571 13,315
AN 01SH K2A 121,886
Il 85,320
== 10,970
Al 25,596
ZOHAAZXAR0ISH(EXR) 26,351 14,450 11,901
Il 18,445
== 2,372
Al 5,534
301 2= 26,351 14,450 11,901
Jl 18,445
= 2,372
Al 5,534
01 Al EE A S(FRNEXMA) 26,351 14,450 11,901
el AXIAHO0IEH NEAMS 26,351
Il 18,445
= 2,372
Al 5,534
Or2l AJ0IEE &4 211,958 201,568 10,390
101 21AH| 130,258 119,868 10,390
04 JIZtN2Z2XNS 2= 130,258 119,868 10,390
2 0IE HIOHHZ =2& 130,258
-JlZs 77,0003 x26H +35& 70,070
=21 9,630 x3AI 2262 * 19 14,272
=Xt 77,0003 x26H 0 18,018
Bal == 15,5003 x26E 6 18,018
-= &l 140,000 x26E ~2& 7,280
-u &S| 50,0002 x26H2& 2,600
201 Ler23| 81,700 81,700
2 s5=34l 81,700 81,700
2 0IE HIOHHZA E32= 81,700
HYAMAEZZNST2 A (ZA) (HEAIY) 68,000 68,000 0
s 20,400
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33 oMI2E Ms =4
ool dEHs =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 47,600
307 gl2tol & 68,000 68,000 0
=S 20,400
Al 47,600
02 QB AANSEER 68,000 68,000 0
SHH LU MAZ =S WA 68,000
< 20,400
Al 47,600
MEYSI N ES7L 1,650 1,650 0
= 495
Al 1,185
307 el2tol & 1,650 1,650 0
= 495
Al 1,155
02 QItASAIEE X 1,650 1,650 0
MEHSAEH S| 1,650
== 495
Al 1,155
2023 SEEEHSMUSHIFUE! Wz 110,000 0 110,000
307 glztol & 110,000 110,000
04 QIZHHAMAIRH 2 X 110,000 110,000
2023 SES0 MU= OHFl 110,000
SHHE ol0tctES 180,000 0 180,000
307 elzto| & 180,000 180,000
04 QIZIHAIALE 2 & 180,000 180,000
K202 201=goi0tetEal 180,000
HEHSAE 21 & 5,247 ,8%4 1,663,000 3,584,8%4
== 700,000
Al 4,547,854
MEHSAIE X 282,600 415,000 132,400
101 e124d| 9,600 0 9,600
M ORINZZ2NSE S 9,600 0 9,600
HEHSAE M A2
200,000& =2 +63| x4 1 2 9,600
201 er2 3| 56,000 25,000 31,000
01 AtR2telHl 29,000 5,000 24,000
HEHMSAE 28 5,000
HEHSAE 2S5 LXE S 4,000
ATE2EY =22 20,000
2 352484l 27,000 20,000 7,000
MEHSAIL (28017 Z8) AL |
2= 27,000
401 AIEHIX S0 217,000 390,000 /173,000
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3 oM2E Ms =4
ool HENSAE 24X E FH (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 217,000 390,000 /173,000
A2 HSAL(28II7 Z8) &X 217,000
AREMSAEE =22 610,000 288,000 322,000
401 AIEHIX R0 610,000 288,000 322,000
01 A28l 610,000 288,000 322,000
HEHSANE B2 50,000
HE AREHSE2 FHIYI 120,000
SUHs ANOIESE 222 100,000
SH ANIESE 222 100,000
SHYENFESE == ZH| 10,000
SEStHMelEUW HILAR B+ 80,000
3= szl 50,000
HEIR=2TY Xd(2d SEXZFNTS
1948) 100,000
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2EAN SRS HE53E =d 600,000 600,000
401 AIEHIZ SR OHYI 600,000 600,000
01 Al&HI 600,000 600,000
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Al 400,000
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Al 400,000
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SHUAY 2 800,000
=S 400,000
Al 400,000
FUFH A 30,000 0 30,000
401 Al HIZL S 0HYI 30,000 30,000
01 Al&HI 30,000 30,000
Adet =019 4= et AANL=2 EX
(FeIEo) 30,000
2E=Ld soll=s2AE 25,254 0 25,254
401 AlZHIZ 2018 25,254 25,254
01 AlZH| 25,254 25,254
2258 olis7 25,254
CES HOIEESE 2 200,000 0 200,000
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= 60000
Al 140,000
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= 60,000
Al 140,000
01 AlZH] 200,000 0 200,000
MEES NOIESH 24 200,000
== 60,000
Al 140,000
HEHHISAIE (FZ7E) B 500,000 0 500,000
= 150,000
Al 350,000
401 Al2HIZL S CHHI 500,000 0 500,000
= 150,000
Al 350,000
01 AlZH] 500,000 0 500,000
HEHHSAIE (Z7E) B 500,000
= 150,000
Al 350,000
TOIEO10f 4F 300,000 0 300,000
= 90,000
Al 210,000
401 AlEHIZL S OHHI 300,000 0 300,000
= 90.000
Al 210,000
01 AlZH] 300,000 0 300,000
HEYENZ MSAE BT (ZRURN) 300,000
= 90,000
Al 210,000
HENSAL =5 4,940,000 5,050,000 £110,000
ARXMIEY 740,000 5,000,000 £4,260,000
403 XIXISHHISKH20I & 740,000 5,000,000 A4,260,000
02 S| ZSOICHEH A2 X RIS AN I 740,000 5,000,000 4,260,000
HYAZXNT T4 AFH| 740,000
SRQEAIY WIS =4 4,000,000 0 4,000,000
401 AlEHIZL S CHHI 4,000,000 0 4,000,000
01 Al&H] 4,000,000 0 4,000,000
QEAIIH HISHA =4 EXMNY 4,000,000
SYARXNT Z4(LZXF) 200,000 0 200,000
401 Al2HIZL S CHYI 200,000 0 200,000
01 Al&ZH] 200,000 0 200,000
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ANEZ 2,100
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AEEHI= X 32,000
SEHE2 dg)| FA 2
150,000 »82CH 12,300
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M HEANE 28
cHel AIRIDHES 9iEt HISAIA I (cro: &g
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEFE Fazd 28,613
-Jles 77,0003« 12 #2482 19,096
-=5=g 77,0003 x 1 »52 4,004
-AXtg 77,0002 x 1+ 11 847
-5222 =2 115,500 x 18 * 12 1,386
-= & 140,000 x 12 * 12 1,680
pani=ts] 50,0002 x1& 122 600
-SE S0l 500,000 x1 =23 1,000
=2 a2 31,385
-Jl=ag 77,0003 x 12 #2482 19,09
=s5=g 77,0002 x1&x52& 4,004
-AXt=g 77,0008 x 1811 847
-5222 % 115,500 » 12 +36L 4,158
-=S €l 140,000 x 1 * 122 1,680
pani=ts] 50,0002 x 1 x 12 600
-2 S0l 500,000& x1H*23] 1,000
201 etz 3| 223,570 191,690 31,880
01 AtR2te|HI 16,500 10,420 6,080
2 ot=2H| 1,000
HAESE 7Y 3,000
=01 i SIIEEI 2X=2 5,000
I & 2EES Y 3,500
=&l 4,000
2 Ss52g4l 207,070 181,270 25,800
2= 7,000,000 ~6& 42,000
ool 23 1,500,000& «12& 18,000
S H FEYERS 60,0002 * 12 720
dojetd e e
700,000 * 128 8,400
SE3IIY € HEMSs2 &I1&8H oA
A =35 2,500,000& * 13| %x221 5,000
SEZIE Xl /S =8
550,000 x 12 6,600
PIULAAS =3 450,000 62| 2,700
M= 9 Dok EAH|
2,500,000 22 5,000
JIHEH |NE+ 500,000& 122 6,000
SEEINE MU AZEENH 2l 4,000
dtgll Z 237 2
150,000 +25CH 3,750
SEBINE HUAEF 22004 (00i201&
=) 9,000,000 32l 27,000
AEEHI= X 40,000
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WEHF

M HEANE 28
Tl AIQIOHES 93t HISAIE XIS (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S0 BIBASLE(BEAIIZ, 1
Xs2) 300
STAES(HEMS2) 188 89
4,800,000 22 9,600
SEFIE AL= JLEES 19,800
PEANMS(ZEAIT) BIIHY 29 5,200
52 B3 20120 014 Y &
1,500,000 23] 3,000
206 M=l 2,000 2,000
01 M=4l 2,000 2,000
SEEINE MUFE SSHIE & A 2,000
401 A2 HIZL 201 118,000 12,500 105,500
01 Al&H| 118,000 12,500 105,500
2YSEZIE e wMAI 108,000
SYUZHZIIY ADU2Y DAHBA
2,000,000 *5CH 10,000
HSHH 28 N2 507,043 477,732 29,311
101 21A4H| 178,043 123,232 54,811
04 JIZtN2Z2 XS 178,043 123,232 54,811
=UHSHE A2t 124,587
-JlZ2s 77,0002 x4 H #2482 76,384
=58 77,0003 x4 52 16,016
-AXt=E 77,0008 x4 x 152 4,620
-F22f=¢ 115,500 x2S +57 13,167
-2 & 140,000& x4~ 123 6.720
- &S| 50,000 x4 * 122 2,400
-EE=0Hl 500,000& x4 =23 4,000
-/ =Hl 80,0002 x4 H+4< 1,280
SUMSHEH MEXA 53,456
—=HHA 26,345
. JlEZa 11,6003 xBAI 2k*1& %250 23,200
. AA=g 30,0002 x 1 * 12 360
e
19, 3403 x 12A1 2hx 12+ 12 2,785
—0t=20F2ZF At 27,111
. JEs 35,0003 x2A| 2k* 18 %200 14,000
. TExg 16,2802 xBAI 2H+ 13 x52& 6,773
. X" 130,2402 x 12 » 182 2,345
raEsdsd
16,2802 «BAI 2H* 1~ 11 1,433
=l 130,000 x1&* 122 1,560
. SESIHI 500,000 x12+23] 1,000
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